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Business Mathematics

PAPER : PART -1 Model Paper (AJK Syllabus) Marks : 40
(SUBJECTIVE PART) Time : 1:45 Hours
SECTION -1
2- Write short answers of any six parts. 2x6=12)
i Express the ratio Rs. 4 : 80 paisa in i | Find x when 10 14 = x : 98
the simplest form. |
iii | Define direct proportion. iv | Find 54% of Rs. 1800. |
|
|
— ) . An item marked with a price tag of
‘\\ Rse tm"m.ulac b .| Rs.200 is available at a 15% discount. ‘
v | 1) commission VI | ; ;
2 e Find the discounted price and amount
i) Discount :
| of discount.
vii ]fmd the simple interest on Rs.4800 viit | Define Annuity cettain.
for 2 year at 6% per annum.
. | Find the simple interest on Rs.3000
| for 60 days at 9% per annum.
3-  Write short answers of any six parts. 2x6=12)
il =% + 1 o - 5
‘ : If Ef.x) 2x +1 then find g(-3) and | Solve 7x+8 _ S
' g(10). 3x+l 3

. g Solve the equation
| ... | Solve 3x%+7x+2=0 by quadratic . q
111 v 5-3x 2x + x—=7 =i

formula. 5 4 12

v | Convert 137 from base ten to base two | vi Perform the binary addztion.
SV 37 § . , rm
(1101)2 +(1001),

Find additive inverse of the matrix |

(i & |

vii | Define square Matrix. viii

Find Ad joint and determinant of

; 4 8
matrix A= " }
2 4

SECTION - I
Note:- Attempt any two questions. - 8x2=16)

| 66 men working 9 hours a day can complete a house in 36 days. How many ard
| a : 04) |
‘ 4 | hours a day 81 men work to complete the house in 33 days. :
|
| b | A jewelry set was sold for Rs. 25500 on a 15% loss. Find the cost of the set. (04) |
!
How much amount deposited now will pay Rs.4000 at the end of each half (04 i
g year for 15 years if interest is 12% compounded-six monthly. ) !
5 ' Solve the System of equation by substitution method.
‘ b | 2x+y=-2 (04)
3x 2y =-4
i
a | Divide (1110111)2 by (1001)2 (04) ‘
6 Solve the equation with the help of matrices ‘
" _a.\:zha—4w_v 04) |
2y=x+ = }
2




Business Mathematics (OBJECTIVE)

PART -1

(PART —1) Marks : 10

(OBJECTIVE PART) Time : 15 Minutes
Note:- Write your Roll No. in space provided. Over writing, cutting, using of lead pencil

will result in loss of marks. All questions are to be attempted.

1- Each question has four possible answers, Tick ( V) the correct answer. (10)
I If x:21:25:35 then the value of x=
A 15 B 3 ¢ 10 \ Di 7
2 | Decimal fraction 0.005 in percentage form is:
A 5% B 0.5% C 0.005% D 50% {
| Profitx100 _ ‘
’ Costprice
P s =
A l;as8 B braht % Discount D| Commission |
Percentage percentage '’
i 4 | The formula to find simple interest is:
'- : -
| 0 Ko s n = |
| A A“P(I"'ﬁ} B A=P(1+r) C [ =Prt D I—_I_ |
5 | Amount of interest varies from period to period in: ‘
s il
a Simple B Compound C Annuity D Annuity '
interest : interest certain contingent
6 | Y =3x+7 defines.
A C onstant B Q uadltatlc C ‘Lme.ar D l_dem‘ny
- function function function function
| 7 | If 6x -3 =0 what will be the value of x? '
] |
[ | : .
A 3 B 9 & 18 D = |
8 | The decimal number “2” in binary number System is equivalent to: ‘
A 0 B 1 © 10 D 11 ‘
9 (1011):“‘(11”)2: |
i
A (1011)2 B (10011)2 C (10100) 2 D (11010)2
|
|
10 | A matrix having m rows and n columns is called square matrix is:
T
|A m>n B\ m<n c m=n D m #0n

(The End)
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ENGLISH (OBJECTIVE PART)

PART -1 Model Paper (AJK Syllabus)
(INTERMEDIATE)

(INTERMEDIATE)

Model Paper (AJK Syllabus)
Marks : 20
Time : 30 Minutes
Note:-Write your Roll No. in space provided. Over writing, cutting, using of lead
pencil will result in loss of marks. All questions are to be attempted.
1-(A) Each question has one underlined word, Choose its correct meaning from

(OBJECTIVE PART)

the options below and tick ( V) it: (10)
i) He was tired and exhausted by strange exercise.
(a) dizzy (b) lively (¢) weakened (d) strong
ii) This man was already consumed by disease.
(a) devoured (b) obsessed (c) weakened (d) vanished
iii) All of them agree to jostle potapov or fall under house.
(a) squeeze (b) repress (c) pull (d) lush
iv) They are made of rare sapphires.
(a) unique (b) scattered (¢) common (d) cheap

v) The jewelry of Mehrun was incredible.

(b) insignificant (¢) valuable
vi) Some sailor will buy a ballad off me that would give me my supper.

(c) script (d) story

(a) unbelievable (d) gleaming

(a) song (b) music
vii) Wozzech sold imitation stuff.

(a) nice (b) pure ¢) artificial (d) borrowed
viii) I remember I was a bit dazed.
(a) satisfied (b) oriented (¢) bewildered (d) rad

ix) Sighing like furnace, with a woeful ballad.

(a) disappointing  (b) happy (¢) hopeful (d) encouraging
x) This sea that bares bosom to the moon.
(a) exposes (b) hides (¢) covers (d) reflects

(B) Each question has four options. Only one choice is correct.

Tick the correct option. (05)

xi) The money loisel borrowed to replace the necklace was repaid in:
(a) 8 years (b) 9 years (¢) 10 years (d) 11 years
xii) The Happy Prince was crying because he was:
(a) happy (b) sad (¢) friendless
xiii) We can assume that Henry is:
(a) submissive (b) gullible
xiv) How much Harry pay for the shop?
(a) $60 (b) 865 (c) $70 (d) 8§75
xv) The ‘road’ in the poem “The Road not taken is metaphor for:
(a) long journey (b) challenges (c) choice in life  (d) forward movement
(C) Tick (V) mark the correct form of verb for the following sentences: (05)

(d) lonely

(¢) hen-packed (d) vulnerable

xvi) He

me last week.

(a) meet (b) will meet (¢) met
xvii) If he , I shall help him.

(a) come (b) comes (¢) came
xviii) 1 here by to morrow morning,

(a) will be (b) was (¢) were
Xix) She always that truth.

(a) speaks (b) speaking (c) speak
xx) He cried as if he mad.

(a) was (b) were (c) is

(The End)

(d) have met

(d) will come

(d) have been

(d) spoken

(d) will be



ENGLISH Model Paper (AJK Syllabus)

PAPER : PART -1 INTERMEDIATE
MARKS: 80
TIME : 2:30 Hours (SUBJECTIVE PART)
SECTION - |
2- Answer (in 3-5 lines / sentences) any six of the following questions from
Book — | (Short Stories): s (12)
.| What were the young seagulfs parents | | | Aueot Beoms man s b Woorici i B

doing while he was sitting the ledge? Do

What does the writer satirize through the

_ iii _waracter of Mathilde? b iv | How did Khazna behave at the food table?
ho are the main characters and what is . :
v | their rglation in the story “After Twenty vi !%I_E:tTtmieLh&l‘:g;li'gﬁg”man say to the King?
years”? ;

What do you know about "Symbolism’? Discuss various themes of the story “The

VIl | “The Lament”. V' | Happy Prince”.
What did the old hag say about the
ix | dowry of Maulvi Abul’s daughter?
| "God be Praised”.
3- Answer (in 3 -5 lines / sentences) any five of the following questions from Book Il
_(OneActPlays). (10)
What is the most surprisin :
i | announcement madepby IVFr Abel in the i g\i’shﬁ';&hfv?ﬁ-f?#ﬁ:snzg‘: La;:rftitg‘fr make in

end? “The Dear Departed”.

Why does Mr. Abel take decision to What do you know about ‘ironj?

iii | marry Mrs. Shorrocks? iv | o« et "
(The Dear Departed). The Rising of the Moon”.

Why does the sergeant insist the man to How can, according to policeman B, a

; d A
V | |eave? “The Rising of the Moon"” vi I\?Igt:rip be comforting? “The Rising of the
' vii | Why is Wozzeck invited to come? Enlist the human qualities of Harry.

i “The Dyster and the Pearl”. VIt | “The Oyster and the Pearl”

4- Answer (in 3-5 lines / sentences) any Four of the following questions from Book Ill (Poems): (08)

i | Why does the poet compare the school i What is the theme of the poem “A poison
| boy to a snail? “All the world’s a stage” Tree”.
| Describe three ways of keeping yourself What message does Robert Frost give to the
ifi av#av from judging people on prejudice. iv _:l'_e?(ders_’through the poem “The Road Not
HI ’ a en”.
. LT : What kind of picture of Karachi slums we
What Philosophy of life is presented in : P
V' | the poem “Sadness and Joy”? v ‘ %;eg gifrtafi?ﬁr%%gmga:?e POCSH.
SECTION — I
5~ Write a letter to your father explaining him the causes of your failure in college
examination. (10
OR

Write an application to the principal for your college requesting him /her to re. admit
your name on the college roll.

6- Write a story on the moral lesson “A friend in need is a friend indeed”. (10)
OR
“Do good , have good”
7- (a) Explain the following lines with reference to the context - (05)

If you can talk with crowed and keep your virtues,
Or walk with kings-nor lose the common touch,
If neither foes nor loving friends can hurt you.
If all men count with you, but none too much;

(b)  Punctuate the following extract from Book-1 (short stories). (05)
i came to you wise man for an answer to my question if you give me none tell me so
and | will return some

(c) Use any five of the following pairs of words in your own sentences, (05)
i) Bridle , Bridal ii) Draught , Drought
iii) Medal , Meddle iv] Pore , Pour
v) Sail , Sale vi Vain, Vein
vii) Wander, Wonder g
8- Translate the following passage into Urdu. (15)

When Mehraun reached the age of 14, Maulvi Abul’s prayers became intense and
prolonged. During Ramadan, he led the nightly tavawik prayers as usual. But the same Maulvi
Abul who never had made a single mistake, began straying from one Surah of Holy Quran to
another. Sometimes, unconsciously, he repeated the same chapter twice in the same part of
prayer.

OR
Candidates whose medium of Examination is English / foreign candidates will write

an essay on (250-300 Words) on “Importance of Discipline”.
(The End)
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